PW110100-05

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: RAPID STREET RECONSTRUCTION, 6th Street to 8th Street

PROJECT NO:

ST00-933

CONTRACTOR: SIMON CONTRACTORS, INC.

ORIGINAL CONTRACT AMOUNT:

\$114,147.59

CHANGE ORDER NO.: 1 & FINAL

DATE: 20 OCTOBER, 00

LINE ITEM	DESCRIPTION	UNIT	CONTRACT OUANTITY	LINIT DDICE	EXTENDED PRICE	INSTALLED QUANTITY	INSTALLED PRICE	INCREASE/ (DECREASE)
IIEWI		01122	QUANTITI	UNII PRICE	PRICE	QUANTITY	PRICE	(DECKEASE)
1	MOBILIZATION	LS	1.00	1,800.00	\$1,800.00	1.00	\$1,800.00	\$0.00
2	CONTROLLED LOW STRENGTH MATERIAL	CY	10.00	65.00	\$650.00		\$260.00	(\$390.00)
3	UNCL. EXC., DIGOUTS	CY	250.00	17.00	\$4,250.00	183.00	\$3,111.00	(\$1,139.00)
4	WATER FOR DUST CONTROL	MGAL	50.00	10.00	\$500.00		\$100.00	(\$400.00)
5	AASHTO T-180, MODIFIED PROCTOR TEST	EA	1.00	100.00	\$100.00		\$0.00	(\$100.00)
6	ASPHALT PAVEMENT SAWING	FT	300.00	1.50	\$450.00	269.00	\$403.50	(\$46.50)
7	CONCRETE PAVEMENT SAWING	FT	75.00	2.50	\$187.50	138.00	\$345.00	\$157.50
8	MILL & REMOVE ASPHALT CONC. PAVEMENT	SF	3,002.00	0.40	\$1,200.80	30,055.00	\$12,022.00	\$10,821.20
9	REMOVE CONCRETE CURB AND GUTTER	FT	706.00	2.00	\$1,412.00	570.00	\$1,140.00	(\$272.00)
10	REMOVE CONCRETE PAVEMENT	SF	74.00	2.00	\$148.00	4,676.40	\$9,352.80	\$9,204.80
11	REMOVE CONCRETE SIDEWALK	SF	112.52	1.00	\$112.52	222.00	\$222.00	\$109.48
12	REMOVE LIGHT BASE	EA	3.00	50.00	\$150.00	0.00	\$0.00	(\$150.00)
13	REMOVE & SALVAGE LIGHT POLE, COMPLETE	EA	3.00	100.00	\$300.00	0.00	\$0.00	(\$300.00)
14	REMOVE & SALVAGE SIGN, COMPLETE	EA	2.00	25.00	\$50.00	2.00	\$50.00	\$0.00
15	AGGREGATE BASE COURSE	Т	1,150.00	10.00	\$11,500.00	1,612.00	\$16,120.00	\$4,620.00
16	GRAVEL CUSHION	Т	40.00	12.00	\$480.00	40.00	\$480.00	\$0.00
17	AC PATCHING, CLASS G, TYPE 1, 5"	SF	60.00	2.50	\$150.00	1,040.00	\$2,600.00	\$2,450.00
18	AC, CLASS G, TYPE 1	Т	738.00	32.00	\$23,616.00	818.54	\$26,193.28	\$2,577.28
19	AC, CLASS G, TYPE 2	Т	370.00	34.00	\$12,580.00	376.10	\$12,787.40	\$207.40
20	CONCRETE APPROACH PAVEMENT, REINF., 6"	SF	370.00	3.75	\$1,387.50	300.00	\$1,125.00	(\$262.50)
21	PCC PAVEMENT, 7" NONREINFORCED	SY	76.24	36.50	\$2,782.76	77.00	\$2,810.50	\$27.74
22	CONCRETE "P6" GUTTER	FT	64.00	10.60	\$678.40	71.00	\$752.60	\$74.20
23	CONCRETE CURB & GUTTER, TYPE B66	FT	1,220.70	10.60	\$12,939.42	1,195.00	\$12,667.00	(\$272.42)
	CONCRETE CURB & GUTTER, TYPE B67	FT	31.25	11.70	\$365.63	31.25	\$365.63	\$0.00
	CONCRETE FILLET & PAN (REINFRCD), 6"	SF	271.17	5.20	\$1,410.08		\$1,410.08	\$0.00
26	CONCRETE FILLET & PAN (REINFRCD), 7"	SF	284.00	5.70	\$1,618.80	284.00	\$1,618.80	\$0.00
27	CONCRETE SIDEWALK, 4"	SF	5,162.96	2.25	\$11,616.66	992.20	\$2,232.45	(\$9,384.21)
28	CONCRETE TEST SET	EA	4.00	125.00	\$500.00	2.00	\$250.00	(\$250.00)
29	CONC. SIDEWALK ACCESS RAMP	SF	144.80	2.40	\$347.52	144.80	\$347.52	\$0.00
30	12" CSP BEND & COUPINGS, 14 GA.	EA	2.00	100.00	\$200.00	2.00	\$200.00	\$0.00
31	12" CSP SLOTTED DRAIN, 14 GA.	FT	41.00	74.00	\$3,034.00	41.00	\$3,034.00	\$0.00
32	COLD PLAST. MARKING, 12"	FT	12.00	10.00	\$120.00	36.00	\$360.00	\$240.00
33	FLAGGING	HR	120.00	13.00	\$1,560.00	105.00	\$1,365.00	(\$195.00)

34	REGULATORY SIGNS	EA	3.00	150.00	\$450.00	3.00	\$450.00	\$0.00
35	STREET SIGNS	EA	4.00	125.00	\$500.00	0.00	\$0.00	(\$500.00)
36	TRAFFIC CONTROL	LS	1.00	1,000.00	\$1,000.00	1.00	\$1,000.00	\$0.00
37	INCIDENTAL WORK	LS	1.00	800.00	\$800.00	1.00	\$800.00	\$0.00
38	UNCLASSIFIED EXCAVATION	LS	1.00	13,200.00	\$13,200.00	1.00	\$13,200.00	\$0.00
39	REMOVE AND REPLACE STORM DRAIN, 50 LF	LS	0.00	2,440.00	\$0.00	1	\$2,440.00	\$2,440.00
40	FRENCH DRAIN UNDER RAIL ROAD	LS	0.00	1,469.62	\$0.00	1	\$1,469.62	\$1,469.62
41	TEMPORARY ASPHALT RAMP IN ALLEY FOR BUS ACCESS	LS	0.00	229.59	\$0.00	1	\$229.59	\$229.59
42	PLACE GEOGRID UNDER BASE COURSE	SY	0.00	3.62	\$0.00	1645	\$5,954.90	\$5,954.90
43	PAINT STRIPING	LS	0.00	505.32	\$0.00	1	\$505.32	\$505.32
44	INSTALL PARKING METER POSTS	LS	0.00	1,876.28	\$0.00	1	\$1,876.28	\$1,876.28
45	SUBGRADE PREP AND SPECIAL HAND FORMED CURB IN	LS	0.00	845.49	\$0.00	1	\$845.49	\$845.49
	END BID ITEMS							
	TOTAL				\$114,147.59		\$144,296.76	\$30,149.17

C.C.O. HISTORY INCREASE/(DECREASE)			PRIOR ADJUSTED CONTRACT PRIC	CE: \$114,147.59
	CCO #1	\$30,149.17	NET INCREASE/(DECREASE):	\$30,149.17
			ADJUSTED CONTRACT PRICE:	\$144,296.76
	PRIOR TOTAL =	\$114,147.59	CHANGE TO DATE:	\$30,149.17
CONTRACTOR:				DATE:
ENGINEER:				DATE: 20 OCTOBER, 2000
MAYOR:				DATE:
FINANCE:				DATE:
CONTRACT TIME CHANGE +/-: 0 NO CHAN	NGE IN CONTRACT TIME			

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: RAPID STREET RECONSTRUCTION, 6th Street to 8th Street

PROJECT NO:

ST00-933

CONTRACTOR: SIMON CONTRACTORS, INC.

ORIGINAL CONTRACT AMOUNT:

\$114,147.59

CHANGE ORDER NO.: 1 & FINAL

DATE:

20 OCT., 00

ITEM	DESCRIPTION	REASON FOR CHANGE
1	MOBILIZATION	NO CHANGE
2	CONTROLLED LOW STRENGTH MATERIAL	MEASURED QUANTITY
3	UNCL. EXC., DIGOUTS	MEASURED QUANTITY
4	WATER FOR DUST CONTROL	MEASURED QUANTITY
5	AASHTO T-180, MODIFIED PROCTOR TEST	MEASURED QUANTITY
6	ASPHALT PAVEMENT SAWING	MEASURED QUANTITY
7	CONCRETE PAVEMENT SAWING	MEASURED QUANTITY
8	MILL & REMOVE ASPHALT CONC. PAVEMENT	MEASURED QUANTITY, ORIGINAL PLANS ERROR, QUANTITY MEASURED IN SY
9	REMOVE CONCRETE CURB AND GUTTER	MEASURED QUANTITY
10	REMOVE CONCRETE PAVEMENT	MEASURED QUANTITY, REMOVED ADDITIONAL IN 7TH STREET INTERSECTION
11	REMOVE CONCRETE SIDEWALK	MEASURED QUANTITY, DELETED SIDEWALK NEXT TO SOUTH CURB AT RAILROAD REQUES
12	REMOVE LIGHT BASE	DID NOT REMOVE-LEFT IN PLACE AT LDJACENT OWNER'S REQUEST
13	REMOVE & SALVAGE LIGHT POLE, COMPLETE	DID NOT REMOVE-LEFT IN PLACE AT LDJACENT OWNER'S REQUEST
14	REMOVE & SALVAGE SIGN, COMPLETE	NO CHANGE
15	AGGREGATE BASE COURSE	MEASURED QUANTITY, ADITIONAL OVER GEOGRID TO REPAIR SOFT SUBGRADE
16	GRAVEL CUSHION	NO CHANGE
17	AC PATCHING, CLASS G, TYPE 1, 5"	MEASURED QUANTITY, PLANS ERROR, MEASURED IN SY, ADDITIONAL NEXT OT BUILDING
18	AC, CLASS G, TYPE 1	MEASURED QUANTITY
19	AC, CLASS G, TYPE 2	MEASURED QUANTITY
20	CONCRETE APPROACH PAVEMENT,REINF., 6"	MEASURED QUANTITY
21	PCC PAVEMENT, 7" NONREINFORCED	MEASURED QUANTITY
22	CONCRETE "P6" GUTTER	MEASURED QUANTITY
23	CONCRETE CURB & GUTTER, TYPE B66	MEASURED QUANTITY
24	CONCRETE CURB & GUTTER, TYPE B67	NO CHANGE

25	CONCRETE FILLET & PAN (REINFRCD), 6"	NO CHANGE
26	CONCRETE FILLET & PAN (REINFRCD), 7"	NO CHANGE
27	CONCRETE SIDEWALK, 4"	MEASURED QUANTITY
28	CONCRETE TEST SET	MEASURED QUANTITY
29	CONC. SIDEWALK ACCESS RAMP	NO CHANGE
30	12" CSP BEND & COUPINGS, 14 GA.	NO CHANGE
31	12" CSP SLOTTED DRAIN, 14 GA.	NO CHANGE
32	COLD PLAST. MARKING, 12"	MEASURED QUANTITY
33	FLAGGING	MEASURED QUANTITY
34	REGULATORY SIGNS	NO CHANGE
35	STREET SIGNS	USED EXISTING SIGNS
36	TRAFFIC CONTROL	NO CHANGE
37	INCIDENTAL WORK	NO CHANGE
38	UNCLASSIFIED EXCAVATION	NO CHANGE
39	REMOVE AND REPLACE STORM DRAIN, 50 LF	OLD CLAY TILE PIPE WAS ROTTEN AND COLLAPSED UNDER CONSTRUCTION LOADS
40	FRENCH DRAIN UNDER RAIL ROAD	NEW ITEM REQUESTED BY RAILROAD, TIED TO STORM SEWER
41	TEMPORARY ASPHALT RAMP IN ALLEY FOR BUS ACC	CENEW ITEM REQUESTED BY BUS DEPOT TO PREVENT BUS DAMAGE CROSSING ALLEY GUTT
42	PLACE GEOGRID UNDER BASE COURSE	NEW ITEM TO REPAIR SOFT AREAS (COAL DUST/SLAG FROM OLD RAILROAD OPERATIONS
43	PAINT STRIPING	NEW ITEM TO PAINT CENTERLINE STRIP AND PARKING STRIPES
44	INSTALL PARKING METER POSTS	NEW ITEM REQUESTED BY BONNIE HUGHES
45	SUBGRADE PREP AND SPECIAL HAND FORMED CURB	I NEW ITEM FOR NODE LANDSCAPING REQUESTED BY LANDOWNERS

PREPARED BY: JOE JAGODZINSKI DATE: 20 OCTOBER, 2000